N = 0l & At & Ml A

20209 = 20l A LB A JIEFSESIH 20z ~ WSS

2AM: 250z

HH: 2= E

el Eti=g2s MY KA (9 ® =)

SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
Estol = 9,014,621 7,372,123 1,642,498
= 38,448
hag 400,000
Al 288,729
- 8,287,444
So=rz=E 1,100,940 844,680 256,260
Al 140,625
- 960,315
S0z A K& 1,100,940 844,680 256,260
Al 140,625
- 960,315
=30z MN=AMY 16,250 6,250 10,000
201 Bt A H| 6,250 6,250 0
01 At 2t2l ] 6,250 6,250 0
(Lt H|) 6,250
1.2l =2SAMEXNE T2y EY
250, 000& *»3CH *33] 2,250
2.230l=2s 2 oMl 200,000& x203] 4,000
203 ¥R =&XH| 10,000 0 10,000
03 Al ZH =X AR = XIH| 10,000 0 10,000
1.2 HIR2FEY| 10,000, 000& 10,000
N EZ=H 17,816 21,856 A4 ,040
201 Bt A H| 13,816 17,856 A4 ,040
01 AP 2t2ld] 13,816 17,856 N4 ,040
(LA ) 7,500
.50 L A 7,500
h.E2E22 50& *35,000& 1,750
Lb. 840 (S ALE) 50,000 = 100K 5,000
CH.BH 30,000& 254 750
(Z22Hl) 3,816
1.258 0= 23 AKX S S A
8,000 104! *11H «70% 616
2.5H XNIII22X 24| 8,000& 400 3,200
(2g94+4) 2,500
1.5 /s &84 2,500
b.JI2 70,000& x5H x53] 1,750
L. =1 30,000& x5H x53] 750
203 ¥ R =&t 4,000 4,000 0
03 Al ZHF=XH R = XIH| 4,000 4,000 0
1. 23R4l 4,000,000& 4,000
N OH OOl HAF 20,000 15,000 5,000
307 212t0| & 20,000 15,000 5,000




2N 230z
A BU=TE
& o=2sAtE K& (&)
SA - ZE-B(EA) - NRAY - B S il &t o il RS2
04 QIZFHALAIH E = 20,000 15,000 5,000
1.2021E AiGH GHSEOl & At 20,000,000& 20,000
=54 ZEUHES=EA 75,000 75,000 0
307 glz2+ol & 75,000 75,000 0
04 QIEHAALE B = 75,000 75,000 0
1.20208 =232 ZEUWEE=HM 75,000,000& 75,000
=232 trgael2 sAH 290,000 290,000 0
308 MtXIEHMSOIH 290,000 290,000 0
10 3J/2S0HUHSB S HAE ALS I 290,000 290,000 0
1.20208 335 Htgaelzd =ql
290,000,000 290,000
SHEAE nEsdazs 97 249 19,000 0 19,000
207 A RO H| 19,000 0 19,000
01 A7 39 19,000 0 19,000
| ERBANT DESB2A 017 2
19,000, 000& 19,000
Z3EE JIBAIE =4 80,000 30,000 50,000
401 Al Bl 28I 80,000 30,000 50,000
01 A& HI 80,000 30,000 50,000
1.23& JIEtAlE x4 40,000,000& 40,000
2.ENHE S0l AN JIEHAIE =4
30,000,000& 30,000
J.2SEE JIEAIE RAE+ 10,000, 000& 10,000
=8t s S¢= 30,000 40,000 A 10,000
201 LBH2d| 30,000 40,000 A 10,000
03 A2 Z Hl 30,000 35,000 25,000
1.822 Hel &AL 30,000,000& 30,000
Oel= 210 23t 2 40,600 40,000 600
201 L2l 40,600 40,000 600
02 22224l 600 0 600
(2322 % WA 600
1.2HE Ss0l8M =& 23
200,000& x33] 600
03 A2 Z Hl 40,000 40,000 0
TLEAE S AL JHZE 40,000,000& 40,000
=SR2 AH B9 2 40,000 0 40,000
201 LBH2EH| 40,000 0 40,000
03 A2 Z Hl 40,000 0 40,000
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2N
X ZH -
L= B

el

M0 MO MO

stol=
stl=d s
Sol=gsAg X2

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
1.AJIEAY 2 JEE X¥32 &1
35,000,000 35,000
H=d SotMl X3 5,000 5,000 0
307 gl2tol & 5,000 5,000 0
02 IZHE M AHE L 5,000 5,000 0
THHEGsH K& 5,000,000& 5,000
SLIAH2H 3,000 3,000 0
307 glz2tol & 3,000 3,000 0
04 QIZFHALAIH E = 3,000 3,000 0
1.8 3,000,000& 3,000
L2AR0=sXR 5,000 5,000 0
307 21201 A 5,000 5,000 0
02 HAHFHAANGEEE 5,000 5,000 0
LARLo=sgsXa 5,000,000 5,000
Z3 "itAHel 29 203,000 123,000 80,000
201 Let24d] 11,000 6,000 5,000
01 At 22l 5,000 0 5,000
TLE2XZAE &0 gz 500,000& 10 5,000
03 A2 I 6,000 6,000 0
1.2stdotHel 29 6,000,000& 6,000
401 AIEHI L 201 192,000 117,000 75,000
01 A& HI 192,000 117,000 75,000
1.242 242 =4 130,000, 000& 130,000
2.0lEHRZ LHel =4 40,000,000& 40,000
3.sd8= UES N =4 20,000,000& 20,000
4.23 HOAC |X 2= 2,000,000& 2,000
EA SSLZ2H HAIES2 2 8,000 5,000 3,000
201 Let24E] 8,000 5,000 3,000
01 At 2t 2l 8,000 5,000 3,000
T.EA SL2H HAIZS2t 29 8,000,000& 8,000
oYs AEE N =4 50,000 0 50,000
Al 50,000
401 AIEHI L 2 CHYI 50,000 0 50,000
Al 50,000
01 A& HI 50,000 0 50,000
1.2 s 228 He ZH (Al 200 32)
50,000,000& 50,000
Al 50,000
282 Lile d2& el 15,000 0 15,000
Al 15,000




25 230z
HzM: S sIE
e Zsttl=gsAMg XA (9 ® =)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
401 AlEHIZL 2 0HY| 15,000 0 15,000
Al 15,000
01 Al&H| 15,000 0 15,000
1.285 L))e o2stHel (Al XI¥s9)
15,000,000& 15,000
Al 15,000
HE2JAZ2FIHE A X 6,497,428 5,930, 190 567,238
SHE2 25T AFY XIS 6,497,428 5,930, 190 567,238
HEZ2ER2GI S ALY XS 6,497,428 5,930, 190 567,238
306 =2 200,000 200,000 0
o1 s a2 200,000 200,000 0
1. HEL!ARME SH2(23])
200,000,000 200,000
308 MXISHMSOIA 5,599,362 4,935,740 663,622
10 B 2SO USE AN EAISH| 5,599,362 4,935,740 663,622
| A== T2HTE 2SYEES
5,599,362,000& 5,599,362
403 XX SRS K 20| & 698,066 794,450 N 96,384
02 2I|2S0 USRS EAEAS Y 698,066 794,450 N 96,384
1.HESIASSFMYE SIEX=2 698,066,000 698,066
MERIIEE & S 8,000 8,000 0
SMEs & dSKSE 8,000 8,000 0
ST USIAIE 435 8,000 8,000 0
307 QI2t0| & 8,000 8,000 0
02 AI2tAMAIE E =X 8,000 8,000 0
1.9 WA Hl X2 A) 8,000,000& 8,000
S NZ DJIBAIE &5 & X3 1,270,996 368,896 902, 100
= 38,448
= 400,000
Al 148,104
2 684,444
S22 AS =25 1,020,000 137,000 883,000
g 400,000
- 620,000
SECA2 HE XA 1,000,000 0 1,000,000
g 400,000
- 600,000
401 Al HI L 2 0HHI 1,000,000 0 1,000,000
Fag 400,000
3 600,000
01 Al & H| 1,000,000 0 1,000,000
1. 20 EHS 2228 1,000,000,000& 1,000,000
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2N
X ZH -
L= B

el

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
Fag 400,000
- 600,000
23 A2 HE 20,000 0 20,000
401 AIEHIZL 201 Y| 20,000 0 20,000
01 A& H| 20,000 0 20,000
1LABEZ2S 24 HE d&HEHH|
20,000,000 20,000
=28 2 &2 T A2 X 250,996 231,896 19,100
= 38,448
Al 148,104
=) 64,444
AMNEZ2E M2 XS 140,000 132,000 8,000
Al 116,000
- 24,000
307 212t0| & 140,000 132,000 8,000
Al 116,000
3 24,000
02 DIZHBAAIRE E X 30,000 30,000 0
1T AEZ22EAHS TAREH X
30,000,000 30,000
Al 30,000
03 QIZEHY X HESIHIEX 110,000 102,000 8,000
1T AEZ2Z2EHZ 294 A& 110,000,000 110,000
Al 86,000
- 24,000
22 A2 A2 AHAISE KR 76,896 76,896 0
= 38,448
Al 19,224
- 19,224
308 XX GH SO0l & 76,896 76,896 0
= 38,448
Al 19,224
- 19,224
10 212 SUHUSHE A XEAE AT Y| 76,896 76,896 0
1. 22 A2 JH2tAI2F AEAIS X &
76,896,000 76,896
= 38,448
Al 19,224
- 19,224
ANBES A2 A2, USRI BASI| X 12,000 0 12,000
405 XHA&HF S HI 12,000 0 12,000
01 AL 2 ZF S H| 12,000 0 12,000
| MBS RSCHR BLRICHE HAS))
AX(F ZFHMA 22) 2 26,000,000 12,000
SEASIENE T2 XS 3,000 3,000 0




2H: 230
HY: SAHB OIIPAL 25 U X2
Sl BY Y X2 SAHB X CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 3,000 3,000 0
02 PIZHEHAHEE 3,000 3,000 0
LSASSESHA X 3,000,000& 3,000
2N 245 XA 16,100 0 16,100
Al 12,880
T 3,220
307 glz2+ol & 16,100 0 16,100
Al 12,880
T 3,220
02 QB HAANEEE 16,100 0 16,100
TAME HE2eAda S & X&E
16,100, 000& 16,100
Al 12,880
T 3,220
MER2EM2 4 & 3,000 0 3,000
201 L4 3,000 0 3,000
01 At 22l 2,000 0 2,000
1.ERM=2 M & 2ZAHH| 2,000,000& 2,000
03 &AL Z I 1,000 0 1,000
1. 325842 /A3 = 1,000, 000& 1,000
B 2L AL (2st0=1t) 137,257 220,357 A 83,100
ol 2dH| 64,029 123,093 A 59,064
ol 2AY| 64,029 123,093 A 59,064
101 @124l 64,029 123,093 A 59,064
01 2= 64,029 75,375 A 11,346
TLAZLZEE 64,029
t.6=2 11,634 x»4B x34A| 2% 128 18,987
.72 10,5093 x7H 34 Al 2t 12& 30,014
Ct.8= 9,434 «3H «34 Al 2t 12E 11,548
ct.95 8,5283 x1H «34 Al 2t 128 3,480
Jl=&l 73,228 97,264 A 24,036
Jl2234 73,228 97,264 A 24,036
201 Let24d] 20,818 15,164 5,654
01 At 22l 19,896 13,688 6,208
(er=&dl) 9,744
1. 2M28 =3t 200,000& » 173 x80% 2,720
2.92210M ¥ 2oL R MR QM
20,000& 505 *32] 3,000
S2AE N A 7,200 *318 224
4.2ZetZgllH El 250,000 x4 48 33 3,000
=4 2| 1,000,000& *80% 800
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02 {0

S

stol=
gl (2s0s)
=3l

SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
(Z2&hl) 9,792
1.2 =AY
8,000& x17H 64! x12& 9,792
(YX2) 360
1. 84$J|9X2 30,000& *1CHx12& 360
02 53294l 922 1,476 N 554
(B222 2 WAl 922
1.8 380 *x30S 12 137
2.57| 2,180&*x30&S +x12& 785
202 O B 40,800 43,200 AN 2,400
01 2L Y] 40,800 43,200 A 2,400
1. 92801204l 20,000& 10 x13H x12& 31,200
2.GRFMI20H (2 MY IIASRHA)
20,0003 10 x4H x12& 9,600
203 &R =&H| 6,210 2,700 3,510
01 J|2A2HLRE=XH| 2,970 0 2,970
10|22 R =8| 3,300,000& *90% 2,970
04 ENSIHRF=EY| 3,240 2,700 540
12N 300,000& *12& *90% 3,240
204 X2 = A H| 5,400 1,200 4,200
01 M SLRHAH| 5,400 1,200 4,200
1B ZHRF=AY| 5,400
JF.2E(43) 350,000& x1H =12 4,200
L. & (53) 100,000& *1H x12& 1,200




N = 0l & At & Ml A

2020 & =04 LBHSIHL JIEFSE S H 230z ~ NS SH
AN =0
M MIES =XBA ZLBL
el MRS TN =X22 8K (S &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
S =Kt 8,762,895 7,852,259 910,636
2 809,762
Al 926,195
- 7,026,938
aIIEE =32 282e 2,936,681 2,632,002 304,679
Al 480,185
- 2,456,496
HEE T =sXS2 KA 2,176,881 2,137,002 39,879
Al 330,185
- 1,846,696
g2+ & =X 2el 1,421,946 1,361,668 60,278
101 1A dl 537,946 484,668 53,278
4 JI12ZHHZEXNSES 537,946 484,668 53,278
1.23A =&y a2y 75,525
.20 68,7203 x7H x120 57,725
Lh.=5+d (542 X8
68,7203 x7H 31 14,913
Ct.oaxt=¢ 68,720& x7H 6 2,887
2.2 HAFZY RY 39,515
DI=10 68,7203 x5F 90 30,924
L. =5+ (Fd+2XLE)
68,7203 x5 21 7,216
C.oxt=¢ 68,720R x5H x4 1,375
3t2 EXAY =2 55,321
DI=10 68,720 x7H 90 43,294
Lh.=5+2(5d+2x8)
68,7203 x7H 21 10,102
Chex=¢ 68,7203 x7H x4 1,925
4.3t=AM. 2. AMH . BSEs S 2R 32,368
PI=10 68,7203 x3Y x120 24,740
Lh.=&5+d(5d+2 L8
68,7203 x3H x31 6,391
Ct.oaxt=¢ 68,720& x3F 6 1,237
5 NE=sX M=&Y 22 22 64,735
.20 68,7203 x6H x120 49,479
Lh.=5+2d(Fd+2XLE)
68,7203 x6H x31 12,782
C.oxt=¢ 68,7202 x6H x6 2,474
6.-dolisgM UFY 86,589
PI=10 68,7203 x6H x160 65,972
Lh.=5+2(5d+2x8)
68,7203 x6H x42 17,318
Chext=¢ 68,7202 x6H x8 3,299
7.33 A= BXIXF sk2e A2 42,883




N = 0l & At & Ml A

20208 &= =0la LB A JIEISERH 230l ~ MsE

S

AN =0
M MIES =XBA ZLBL
ool WS A KB S (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
.20 68,720 x4H 120 32,986
L. FE+S(FLLLTH)
68,720 x4H x302! 8,247
CheHX=¢ 68,7203 x4H 6L 1,650
8.8 &XN T =Xz FY 57,726
.20 68,7203 x4F 160 43,981
L.F=5+2 (5228
68,7203 x4H x42 11,545
CH.oxt=¢ 68,7203 »4H 8 2,200
9.2HEY NM=HY RY 15,944
DI=10 68,720 x2H x90 12,370
L. F542(RL42EE)
68,7203 x2H 22 3,024
Chex=¢ 68,720 x2H x4 550
10.0H X+ =X2el o2 15,944
.20 68,720 x2H 902! 12,370
L. FE+S(FLLLTH)
68,720 x2H »222 3,024
O.oxt=g 68,7203 x2H x4 550
MAENEE BE8= 51,396
b NEEE= 486,550,000& *1.65% 8,029
(B el Rt =gl = = 486,550,000 *4.5% 21,895
O.ZeALBEE= 486,550, 0003 %3.23% 15,716
. A RAEEE 15,716,000& *8.51% 1,338
ot.A4MMEEZ 486,550, 000& *0.908% 4,418
201 LEr2 Y| 4,000 4,000 0
02 232gHl 4,000 4,000 0
1. 8922 28 NHIIRE3 100,000& *403] 4,000
203 YR =&l 3,000 3,000 0
03 Al Z=XH R =AH| 3,000 3,000 0
1.3¥=sNPRFEH| 3,000,000& 3,000
206 M= Hl 62,600 57,600 5,000
01 24l 62,600 57,600 5,000
.42 A8 HETY 8,0002 *1,000 8,000
2. 83258 MM+ 5,0003 *x2&*200& 2,000
3IGZAME st 4003 *10,000= *43] 16,000
4.0t St BAg Odx 2Y
1,000& 200 m* * 1002 *x20% 4,000
5.l=X 2A8 2= 5,000&+200m =102 10,000
6.2 28 4EFY 10,000& *300& »2 1L 6,000
722X Zes MM, Eol,2Xs )7
3,000,000& »14! 3,000
8.2 =0olCHHl XtIH L 5,000 *2&+100& 1,000
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M SESID
A =

M MAIE2 =A32 42
ool WS A KB S (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
9.2 sAZel HHPL(HEB2E &)
6,0002 *10Z « 10 600
10,4288 $H 547
10,000& x5 *x240& 12,000
401 Al HI R 201 I 801,500 803,500 A 2,000
01 A& HI 800,000 802,000 A 2,000
1HANE W Al HH|
150,000& *1,0001 F 150,000
2.0tz ME 100,000& *1,7001 2 170,000
3.9 E8+= & 100,000& 2001 = 20,000
4 NE=X =2 FH 100,000& x2001 2 20,000
5. 28U Z0HHF 30,000&+2,0000 % 60,000
6.42UR 8F 100,000& »2001 2 20,000
7.0t12= Z2FX B4 1,000,000& x50 2 50,000
B.ZHEUSR otk & & 150,000, 000& * 14! 150,000
9.ZILEUS HHS 2
20,000& 1,000 % 20,000
10. 2HULSATHS A 1,000,000 901 2 90,000
110122 Al AXXC HE EXSA
50,000,000& =14l 50,000
03 Al =2 THHI 1,500 1,500 0
T.AIE 2 I 1,500, 000& 1,500
405 XHoHF S HI 12,900 8,900 4,000
01 AL ESFH S 12,900 8,900 4,000
.22 ¢ SJ2eE s FH 7 8,900
Jb.sE =0 500,000& +7CH 3,500
L.sgs 600,000& *4CH 2,400
Ct.E2lOt 500,000& =4 CH 2,000
ct. DX A S 500,000& *2CH 1,000
2. ZCIMBA A +E 800,000 +50H 4,000
=X32t AIE2 22l 224,564 180,652 43,912
201 et 159,564 120,652 38,912
01 Al 22! 8| 80,000 43,200 36,800
(2ersgHl) 700
| EHHS X SHUHE L B0
35,000& »20& 700
(=242 Heldl) 20,000
| ASHN L ADTHES S 2o Helyl
50,000& *400& 20,000
(I =4l) 1,500
1.8&¥2eE RS 2FR=2 50,000& 30 1,500
(Xt Z) 57,800




M SESID
A =

M MAIE2 =A32 42
ool WS A KB S (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
T o8 =Add 2 ssS=7 &0 9x
600,000& =103l 6,000
2. =22 Y 600, 000& 353 x2CH 42,000
3.=X8E ssite 400,000 = 1CH*128 4,800
4. 22T RS 5,000,000& » 14! 5,000
02 2324l 79,564 77,452 2,112
(2322 % WAl 46,964
1.8IIMER 23,732
.ZES 18,538
ez 6,290 *150kKW 123 11,322
2INBZ 85.9& x7,000kW 123 7,216
L. =3 A& 5,194
N2z 6, 160 * 100KW x5 3,080
2)NEZ 105.7& *4,000KW+58 2,114
2. 402 23,232
b a=E 880& *1,100=+128 11,616
Lt.ot+=% 880& *1,100E 128 11,616
(AM&ZFHl R8I 32,600
1.8/ sX2el 100,000& »30CH 33| 9,000
2. =X ¥ =228 I 7F 11,600
DI 1,550& *4,0004 6,200
L. 38 1,350& *4,0004 5,400
3. 23U A2 sX2el B
150,000& =80 12,000
401 Al HI L 2 THHI 65,000 60,000 5,000
01 A& HI 65,000 60,000 5,000
1.5XAEE 22+ 2,000,000 *100H 2 20,000
2. HOAE WA - FHI 30,000
b QAKX (SR, EAX) 500,000 *200H 2 10,000
Lt.otet 10,000,000 *2JH 2~ 20,000
3.7e2sE FE =XU JI2S EX3A
15,000, 000& 14! 15,000
2= AZ= 22 230,000 230,000 0
Al 115,000
T 115,000
401 Al Bl 2B 230,000 230,000 0
Al 115,000
T 115,000
01 A& HI 228,400 228,500 A 100
1.0t12 AE2el(HE & HalsgH s)
228,400,000 228,400
Al 114,200
T 114,200




2N

M MAIE2 =A32 42
el MRS TN =X22 8K CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 AlE 2 THHI 1,600 1,500 100
T.AIE 20| 1,600,000& 1,600
Al 800
- 800
ANE=I & =X 22 170,371 180, 182 29,811
Al 85,185
T 85,186
101 @124l 17,000 29,182 N 12,182
Al 8,500
T 8,500
4 JI2ZtHZ22HEE = 17,000 29,182 212,182
TAIHIEXE SAsSX 223 17,000
PI=10 68,720 x1H »170 11,683
Al 5,842
T 5,841
L.=5=2(5¢s228)
68,7203 x1H 452 3,093
Al 1,546
T 1,547
Ct.oaxt=¢ 68,7203 »1H +8 550
Al 275
- 275
cHALEANREE B2 1,674,000 1,674
Al 837
- 837
401 Al HI L 2 THHI 153,371 151,000 2,371
Al 76,685
T 76,686
01 A& HI 152,371 150,000 2,371
TAE=sT & X2 152,371,000& 152,371
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03 A& 2 THHI 1,000 1,000 0
T.AIE STl 1,000, 000& 1,000
Al 500
T 500
NBEXD2 BBNL L ALY 130,000 184,500 A 54,500
Al 130,000
401 Al HI L 2 THHI 130,000 184,500 A 54,500
Al 130,000
01 A& HI 130,000 184,500 A 54,500
1.22etsS4 APHE ZEX (Al 200 2L2)
50,000,000 » 14! 50,000
Al 50,000
2.28ects4 ROIJI(Al EH0 B2L2)
50,000,000 =14l 50,000
Al 50,000




M SESID
A =

Bu: M)ES SXB 2822
el BEE TA SX22 9K (B9 ®R)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
=M Al 00l MES(Al XIZEsl9)
15,000, 000& 14! 15,000
Al 15,000
4. ZEfAUIHE DEH URAT(A XNLE39)
10,000, 000& * 14! 10,000
Al 10,000
5.5X0 S 2%X MXIAIAL (Al XIH39)
5,000,000& =14l 5,000
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9 EE EAEE =4 759,800 495,000 264,800
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1. 58 SEHZ X U &Y HU QX
500, 000& *23| 1,000
2 | 35,750 6,280
2 8l 35,750 6,280
1.38 Sof & sUH XM
5,000 *3& 80 1,200
2.0LALE 2 L 20,000& *10m x 104 A 2,000
3.2 72¢ 30,000& *10m* % 10 A 3,000
4 HOUEIU(NEES M) 35,000& *x3&5*10= 1,050
5.2 9 gtx el 7Y 7,250
b .s<f 10,000& *4Ex100= 4,000
Lt.H = 8,000& *200 & 1,600
Ch. & E I 35,000 *30H 1,050
ch. &t 2 2= 3,000& *200H 600
6.3t P& 400& *3,000= *43] 4,800
=5 72 5,000& *5002 *x23| 5,000
8.2=01& 22X P2 11,450
Jb.gA(2A) 20,000& *150= 3,000
L. Sl &S AMAl 60,000& x152 900
Ct.ot=2 0t 30,000& *30= 900
ch. =X 12,000& =104 120
0. 2= 50,000& *6H 300
. Xt S 20,000& = 15004 3,000
AH EEOJ Al HIE 40,000& =104 400
OF. Xt & 8t 400,000& *54 2,000
A.OHEQR 222 20,000& x30& 600
. F2H=4 170,000& * 14 170
I, 0Ol A BFA 60,000& =14 60
L AEE A2 1,366,403 238,816
EE T 494,581 69,716
01 At 22l ] 41,800 14,300
(dxtz2) 41,800
1.5 Mol SS=725 MR
600,000& *33| 1,800
2.2=01& S&EA At
4,000,000& x2& x204 A~ 16,000
3.2dAa=EE2Y 6,000,000& x4 3| 24,000
02 3524t 452,781 55,416
(2222 2 HA) 395,139
1.8 E 2 262,347
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L. =3 A& 184,259
s (de) 6,160 «2,000kKN x5 61,600
2)Jleg (1) 7,170 *1,000kW 53 35,850
INEZ (ML) 105.7& %150, 000kW 53 79,275
HNBZ (DY) 115.9& %13,000kW x5 7,534
2. 4%t 52 128,832
b a=& 880& x50 £ +80E 128 42,240
Lt.ot=% 8803 x50 & +80E * 128 42,240
Ch &2 (2=01%)
8803 *6IH £ *70E 60 22,176
.ot (2=01%)
8803 *6IH £ *70E 60 22,176
.88z 3,960
b BRS RHARAZ 55003 #4400 A x123 2,640
Lh.=3AIE R43A
16,5002 6 A+ 12 1,188
Ch.Xsd dHae 11,0002 1 2+ 123 132
(=24l) 5,042
1. 84833 H2H(ER) 1,350& *520£ 702
2. 23 ==22el&8 s8IH »F
1,550& *20CH » 1404 4,340
(NEZHISXH) 52,600
1.3 A4 B+ 1,500,000 »7H 2~ 10,500
2.52U SHAE2 21N
100,000& *70& 7,000
3.32U =0lAM&E2 BTN
100,000& »70& 7,000
4. 82U AMEE B 100,000& *70& 7,000
REEL ANEE SA2L 5,100
b.2=AE 1,200, 000& *33| 3,600
Lh.+=38Z 500,000 »3CH 1,500
6. 52U st&A FX 22l 100,000 2574 £ 2,500
7.380|H wX2el 100,000& = 14CH 33| 4,200
8.==2HZ 30,0002 *30IH *5IH 2~ 4,500
9.2=23& N&EmX &2 400,000& x12& 4,800
302 01 =L T3 12 & 2 2,750 2,750
02 QIZHITHOH R EFR &S 2N = 2,750 2,750
1.212k0l Al 9 RFH| 1,000, 000& 14 1,000
2.212Ho1 Aol Xl 2 HI 350,000 x5H 1,750
305 W& 2 S 25,200 25,200
01 Hia=S 25,200 25,200
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05 RIZt2IE = 12,822 12,672 150
1.232X otdae =2
105,600& 12 1,268
2. YZE otdzte e
162,800& 12 1,954
3.3% HOI2a A RAEH 2l
600,000& x12& 7,200
42533 22y 23 100,000& =122 1,200
S5.MelXl=HME 33 2c/ad RelBH|
100,000& =122 1,200
401 AIEHIZL 20HEI 831,050 662,100 168,950
01 A& Hl 829,550 660,600 168,950
1.32ANEE 223 At 176,550
.23 4,000, 000% =174 & 68,000
Lt.O{elol=& 1,350,000 734 2 98,550
.33 1,000,000 *5J4 & 5,000
23S 5,000,000 =104 2 5,000
2.Z3RANEE TMHZA 1,000, 000& * 1074 & 10,000
3.2+ 2A(014) SAb 500,000 +400F 20,000
4. OFLH2FE JH A 1,000,000 2004 2~ 20,000
5. 33 +== HUISAM 100,000& 7001 = 70,000
6.&CIZe (E=HAH) SA 70,000,000& 70,000
7.3 HIIAEES H2F SOtH S
60,000,000 » 14l 60,000
8.3% HYANA ¥ =X EH
90,000,000 » 14! 90,000
9.201& HoALE X 200,000, 000& 200,000
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N.SH3A =2 FH L HgsaMz LX)
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R.IAFMEAHAZ 2OME LI (2 FOHUHL 2
2) 25,000,000& 25,000
03 A& SR THHI 1,500 1,500 0
T.AIE 208l 1,500,000 1,500
=SSk+7 32 100,000 75,182 24,818
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- 50,000
101 @14l 48,555 28,570 19,985
Al 24,244
T 24,311
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Ct.oAaxt=¢ 68,720 x3% 8 1,650
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2ANERRY EER 4,641
b NEEE= 43,914 ,000& =1.65% 725
Al 329
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=0z 43,914,000 x4.5% 1,977
Al 989
- 988
HAEE 43,914 ,000& %3.23% 1,419
Al 709
- 710
L 1,419,000& *8.51% 121
Al 61
- 60
MATHEE 43,914,000& =0.908% 399
Al 199
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gt2E | 30,845 27,412 3,433
Al 15,456
- 15,389
= 2| di 12,460 6,750 5,710
U2 2H|) 12,460
dAES 7¢ 7,000 +x75+80& 3,920
Al 1,960
- 1,960
SRS A28 P2
3,000& *3&+300& 2,700
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- 1,350
AMEdi=HE Ot 2 250& *20,0000H 5,000
Al 2,500
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SEU SHAR LS 8=
35,0003 64 2 *43] 840
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el AR B35 9 PE (B9 ®R)
. o
S - FE - EA(SH) - NRAY - BES e HlnE2
2MERAERU MEMAH(SFH)
7,200,000 = 1CH 7,200
= 2,880
Al 1,296
T 3,024
JStH A 29 18,200 22,820 A 4,620
= 7,280
Al 3,276
- 7,644
201 ¢er24] 14,800 19,420 A4,620
= 5,920
Al 2,664
- 6,216
01 At 22l 14,800 19,420 N4,620
(er+=2ZH| 12,000
1.0 & 3t & | 400,000& *30& 12,000
= 4,800
Al 2,160
T 5,040
(=4l) 2,800
1.4 28 3t g A 8,000& *350H 2,800
= 1,120
Al 504
- 1,176
202 O4dl 3,400 3,400 0
= 1,360
Al 612
- 1,428
01 = LH 4 Hi 3,400 3,400 0
1A Ed S E S 20,000& 170 3,400
= 1,360
Al 612
T 1,428
LSt A 2= 900 910 A10
= 360
Al 162
T 378
201 L4l 900 910 A 10
= 360
Al 162
T 378
02 2324l 900 910 A 10
TMEZANIAXZHAIAE(SLUZ)
900,000& 900
= 360
Al 162
T 378
MEMEHLIEY 29 238,200 115,710 122,490
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AN =0
M AYE MPEY
Sel: MERRO 25 Y BE (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 95,280
Al 42,876
T 100,044
101 124 dl 225,300 106,790 118,510
= 90,120
Al 40,554
T 94,626
0412t Z2XREES 225,300 106,790 118,510
(=20 LXSH) 225,300
1.002481 (17Y) 210,300, 000& 210,300
= 84,120
Al 37,854
T 88,326
AESHZHYASN I EEZ
15,000, 000& 15,000
= 6,000
Al 2,700
T 6,300
201 Let24E] 12,900 8,920 3,980
= 5,160
Al 2,322
T 5,418
01 At 22l 11,800 8,000 3,800
(I =4l) 6,800
TAEM2UHEENSIH2 = 400,0008 174 6,800
= 2,720
Al 1,224
T 2,856
(Ut Z) 5,000
TLASSHEESHE(YXR)
5,000,000% = 1CH 5,000
= 2,000
Al 900
T 2,100
02 2324gHl 1,100 920 180
TLMEHZESXE (S IH)  1,100,000& = 1CH 1,100
= 440
Al 198
T 462
2= UNE-" I ER=TN 170,000 170,000 0
Al 51,000
T 119,000
201 €24 170,000 170,000 0
Al 51,000
- 119,000
01 At 22l 170,000 170,000 0
(gxr=2) 170,000
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5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
1 AEYXEIYIZ 170,000,000 = 1CH 170,000
Al 51,000
- 119,000
F3l MEIAZ0FRN S 2 | 9,828 4,500 5,328
= 9,828
301 LEPEAZ 9,828 4,500 5,328
= 9,828
0B M ERRIABLS 9,828 4,500 5,328
1.8 9,828,000 9,828
= 9,828
AHALER FHAX S XIE 1,000 1,500 A 500
201 Let24d] 1,000 1,500 A 500
01 At 22l 1,000 1,500 A 500
(2g9+¢) 1,000
T.AALER FHAXAXNERARS HoF 1,000
o2 70,0003 x5H +23| 700
Lt =2t 30,0003 x5H »23] 300
2hALY 193,757 40,500 153,257
= 135,629
Al 40,689
T 17,439
401 A& HIZ 201 8] 193,757 40,500 153,257
= 135,629
Al 40,689
T 17,439
01 A& HI 185,957 37,600 148,357
1HSE &AL (1km) 185,957,000& 185,957
= 130,169
Al 39,051
- 16,737
02 Zeltl 6,500 2,500 4,000
1.AHS E &AL (1km) 6,500,000& 6,500
= 4,550
Al 1,365
- 585
03 A& =TI 1,300 400 900
THSE &AL (1km) 1,300,000& 1,300
= 910
Al 273
- 117
LAY EotE A 3,922 0 3,922
= 2,745
Al 823
- 354
401 Al HI K 201 I 3,922 0 3,922
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SN BR=XD
M AYE MPEY
Sel: MERRO 25 Y BE (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 2,745
Al 823
= 354
01 Al&H| 3,922 0 3,922
1. HASEN EIEHEE I 3,922,000 3,922
= 2,745
Al 823
- 354
APALER & & e 29 13,414 13,142 272
= 5,366
Al 3,219
- 4,829
101 e1214| 13,414 13,142 272
= 5,366
Al 3,219
5 4,829
04 J|12ZtHIZ22NEES 13,414 13,142 272
1.0FAME & & ofltet(1dY) 13,414,000 13,414
= 5,366
Al 3,219
- 4,829
MNEAMA S 2ELS HH| 30,000 30,000 0
401 AlEHIZL 2 0HY| 30,000 30,000 0
01 Al&HI 30,000 30,000 0
LAEAETY AB4S T
100,000 x3000 2 30,000
METRAXY 657,740 639,582 18, 158
=2 212,170
Al 137,621
- 307,949
OMIHX 2= RD] 325,440 0 325,440
= 162,720
Al 48,816
- 113,904
401 Al HI L 204 HI 325,440 0 325,440
= 162,720
Al 48,816
- 113,904
01 Al&H| 311,940 0 311,940
1.0IMSH X 2= JIRI|(A=120ha)
311,940,000 311,940
= 155,970
Al 46,791
- 109,179
02 2teld| 12,000 0 12,000
1.0l X 22 = JFRI|(A=120ha)
12,000,000& 12,000
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AN =0
M AYE MPEY
ool MYRATY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 6,000
Al 1,800
T 4,200
03 Al 2 THHI 1,500 0 1,500
1T.0IMEHX B2= I3 II(A=120ha)
1,500, 000& 1,500
= 750
Al 225
T 525
THE SHEIELY B 2,800 0 2,800
= 1,200
Al 480
- 1,120
402 BI2HX=20| M 2,800 0 2,800
= 1,200
Al 480
- 1,120
02 It EAILEZ (01X S) 2,800 0 2,800
| Feg SWRY 2YY 23
4,000,000& = 1CH*70/100 2,800
= 1,200
Al 480
T 1,120
=6 SFHH 14,000 0 14,000
= 10,000
Al 1,200
- 2,800
402 RI2FX=201 M 14,000 0 14,000
= 10,000
Al 1,200
- 2,800
02 QI EALEZ (01X THE) 14,000 0 14,000
L= 83 14,000, 000& 14,000
= 10,000
Al 1,200
- 2,800
235+ FHl ¥ |A2a 10,000 13,500 A 3,500
401 A& HIZ 2018 10,000 13,500 A 3,500
01 A& HI 10,000 13,500 A 3,500
.25+ 4l & |X2c
1,000,000 * 1004 2 10,000
s&2 | 64,000 320,000 A 256,000
Al 48,000
T 16,000
401 A& HIZ 201 I 64,000 320,000 A 256,000
Al 48,000
T 16,000
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AN =0
M AYE MPEY
ool MEXRTA EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 63,500 317,700 A 254,200
.84 2 Fl(L=2km) 63,500,000& 63,500
Al 47,625
- 15,875
03 Al =2 THHI 500 2,300 A 1,800
.84 2 Hdl(L=2km) 500,000& 500
Al 375
T 125
HAMZ XY 90,000 0 90,000
401 A& HI K 201 I 90,000 0 90,000
01 A& HI 90,000 0 90,000
1.0 A2 XA (L=200m) 90,000, 000& 90,000
Fad MEg2d = =4 50,000 0 50,000
401 A& HIZ 201 Y] 50,000 0 50,000
01 A& HI 50,000 0 50,000
1.8348 HEgd = =4 50,000,000& 50,000
MEFAALE X 2 FH 5,000 5,000 0
206 = Hl 5,000 5,000 0
01 M2 4l 5,000 5,000 0
1.8542 ZHIE A 500,000& 108 5,000
0tz nE2Y 76,500 74,800 1,700
= 38,250
Al 19,125
- 19,125
401 AIEHI L 2 0] 76,500 74,800 1,700
= 38,250
Al 19,125
- 19,125
01 A& Hl 76,500 74,800 1,700
1.90t=s nE2dY 76,500,000& 76,500
= 38,250
Al 19,125
T 19,125
HXE0I wHd ¥ &X 20,000 0 20,000
Al 20,000
401 A& HIZ 201 Y] 20,000 0 20,000
Al 20,000
01 A& HI 20,000 0 20,000
1.2928¢ S&2 HAE0I M ¥ AXI(Al
o0 BL2) 20,000,000& 20,000
Al 20,000
cas g3 =4 503,387 143,360 360,027




SN BR=XD
B A% UYBY XY
Sl 0IS0E B3R X4 CERED
A - ER(EN) - AR - B of & o4 SSa HIDZ2
OlSt2 =838 =4 503,387 143,360 360,027
& FEI2 242 236,561 143,360 93,201
101 124 4] 95,739 89,249 6,490
04 JIZAtNZ22XNSE* 95,739 89,249 6,490
183 (2L S) 72,157
.2 68,7202 *5% * 1602 54,976
L. FE+2(FL4LEH)
68,7203 x5H x42Z 14,432
Ch.egaxt=¢ 68,7203 x5 «8L 2,749
2.4t § 2l 14,433
J).en 68,7203 x1H 160 10,996
L. F=5=E(FL+228)
68,7203 x1H 42 2,887
Ch. X8 68,7203 x 12«8 550
SAENREE EE2 9,149
J.NEEES 86,590,000 *1.65% 1,429
L. =228 86,590, 0003 *4.5% 3,897
Ch.=0H2d28 2 86,590,000 *3.23% 2,797
ch. = QYPEE 2,797,000 *8.51% 239
Oh. &M HEE =2 86,590, 000& *0.908% 787
201 Yet2 2t 53,522 43,158 10,364
01 At 2t 2l bl 11,450 9,030 2,420
(Zeh=2Hl) 11,450
1.2 322357 7,000 x75 208 980
2.3t 84 A2 72Y 3,000& *3Z +400% 3,600
3480 =& it 2503 7, 00004 1,750
4.2 & AEUH =8 XS S+
35,0003 *20H 700
5. B 2 i 228 A257Y
2,000,000& 2,000
6.2LXN=HIH 2UMRL =D S
30,0003 x12& 360
7.30=d EER 515,000& »42 2,060
02 3224l 42,072 34,128 7,944
(2222 ¥ HA 34,547
1LEIANES(2SX 2 2204 A) 14,764
oz 6,290& »100kw* 12 7,548
L ALE = 85.9& »7,000kw* 12 7,216
2.=BANETINBE(2LX HAZL) 5,879
dGro== 6, 160 & x45kw*5E 1,386
L AFE 2 105.7& *8,500kw*5 4,493
3.ol=ER= 8803 *3JH - *x300=+12& 9,504
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SN BR=XD
B A% UYBY XY
9l OS2 4¥3R =4 (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
4 2INE dotrcas
880 *1JH A +1,000E +5& 4,400
(Al & -l S Xdl) 7,525
1.880/H |A&e 100, 000& *7CH *4 3| 2,800
2.8 SEEH RFUH
1,500& *7CH #504 525
JANEE2 X2 B 150,000& *28& 4,200
206 M = Hl 10,000 9,000 1,000
01 X2 bl 10,000 9,000 1,000
1Al 22 RHIH 2 20,000& *10m* 204 A 4,000
2.5 ¥ =12 500& *3,000&2 43| 6,000
307 212t01 & 1,200 1,200 0
05 A2t E = 1,200 1,200 0
1. 22X 22IAIRA 202Hl 100,000 x12& 1,200
401 AIEHIL 200 75,000 0 75,000
01 Al bl 75,000 0 75,000
1.22 X =9 &HH| ALY 25,000,000& 25,000
229X & FHEAM 2/DU
50,000,000& * 1 2 50,000
405 XHoHF SHI 1,100 753 347
01 It = S F SHI 1,100 753 347
1.8580 x| 500, 000& = 1CH 500
2.8 600, 0003 = 1CH 600
MNelXl +=HMEfs 3 22 266,826 0 266,826
101 @1 21| 63,826 0 63,826
04 JI2ZtH2ZXNEE S 63,826 0 63,826
1.2l 33 2R 57,726
p=10;] 68,720& 4P x 160 43,981
.29 (5249EE)
68,720 x4H x42 11,545
Ch.AX =& 68,720 *4H 8 2,200
2.MNBIREY BEE 6,100
. le88s 57,726,000& *1.65% 953
L. =201H= 57,726,000 *4 .5% 2,598
Ch.AZEE 57,726,000& *3.23% 1,865
. A RAEE 1,865,000& *8.51% 159
O ATHEE 57,726,000& *0.908% 525
201 LEt2 Y| 3,000 0 3,000
01 AR 22| bl 3,000 0 3,000
122 0= 3,000,000 3,000
401 Al HI L 2 0HHI 200,000 0 200,000
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AN =0
B A% UYBY XY
& st =3 =4 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 A& HI 200,000 0 200,000
THElX =HMEHZSI SAAHEANE HEEA
200,000, 000& 200,000
BHS B (IR =X D) 667,891 616,341 51,550
Al 17,315
- 650,576
ol 2| 567,018 527,544 39,474
Al 17,315
- 549,703
ol 2A Y| 532,389 477,908 54,481
101 @124l 532,389 477,908 54,481
01 2~ 109,549 95,096 14,453
TAZZRSE 109,549
t.6=2 11,6343 x6H +34A| 2% 128 28,481
.72 10,5093 »11H «34A| 2t + 128 47,165
Ct.8=2 9,4343 7T +34A| 2t %128 26,944
ct.ozg 8,5283 x2H «34 Al 2tx 128 6,959
03 RIAHAZ 2T E + 422,840 326,261 96,579
(Saze2Y) 73,941
1.8+ 66,874
.20 (108 8) 1,754,720 x2H 124 42,114
L. &2 1,754, 7203 23 x240% 8,423
Ct. B EF Ot 1,754, 720 & x2H x120% 4,212
ch. B A S AH| 130,000& 2 128 3,120
Ot. WS &2 =t 70,0003 x2H 128 1,680
. A2+
11,030 x150%* 10A| 2Hx2H « 128 3,971
ALAXE=Y 88,2403 x2H x19& 3,354
2ANBNRE BEZ 7,067
. ng=28= 66,874,000 *1.65% 1,104
(Bt e =gl = = 66,874,000& *4.5% 3,010
Ch.20A228E2 66,874,000& *3.23% 2,161
. AMAMEEZ 66,874,000& *0.908% 608
O LoEIIQAEEE 2,161,000&%8.51% 184
(ared o 22X 22l) 69,254
1.8+ 62,635
.20 (1ss) 1,667,320 x2H x12& 40,016
Lh. &0 2 1,667,320 & x2H x240% 8,004
Ct.EE FItd| 1,667,320 2% x120% 4,002
ch. B UG AH 130,000& »2H 128 3,120
Ot nwEE =4l 70,0003 x2H 128 1,680
g A28
10,5303 x150%* 10A| 2Hx2H x 128 3,791
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SN BR=XD
M HY2IAZH (=S
& o 2d| (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
A LAY 84,2403 x2H x 12 2,022
2ANBUHREE BEEZ 6,619
. ng28= 62,635,000& *1.65% 1,034
(s Rt A=l =: = 62,635,000& *4.5% 2,819
Ch.20A428E2 62,635,000& *3.23% 2,024
. AHEES 62,635,000& *0.908% 569
O EIQAEEE 2,024,000 *8.51% 173
(ZEX M=z 212Y) 34,629
1.2x(188) 31,318
b.2¢ 1,667,320 18« 12& 20,008
Lh. &2 1,667,320& » 1% x240% 4,002
Ct. Y E F Ot 1,667,320 « 12 «120% 2,001
ch. A AH 130,000& 1H 122 1,560
Ot. WS &2 =t 70,0003 x 18 123 840
gt A2l =G
10,530 x150%* 10Al 2hx 1« 128 1,896
A LA E 84,2403 x 1«12 1,011
2ANEXNRE BEEZ 3,311
b ANEEEE 31,318,000& »1.65% 517
L33 EE = 31,318,000& *4.5% 1,410
Ch.I30A8228E2 31,318,000 *3.23% 1,012
et EIQAEEE  1,012,000& *8.51% 87
oL ATHERE 2 31,318,000& *0.908% 285
(== doils 2H) 34,629
1.8+ 31,318
.20 (1s8) 1,667,320 x1H x12& 20,008
L. &2 1,667,320& * 19X x240% 4,002
Ch. ¥ EZ =4l 1,667,320& 1 x120% 2,001
ch. B UG A 130,000 x1H x12& 1,560
Ot WS &2t 70,0003 x 18 «128 840
b Al 2E el 2
10,5303 x150%* 10Al 2t x1H 123 1,896
A LA E 84,2403 x 1P 12 1,011
2ANEBNRY EE2 3,311
b NEEEE 31,318,000& *1.65% 517
Lt.20HZIEER2 31,318,000& *4.5% 1,410
Ch.3AZEE = 31,318,000& *3.23% 1,012
et LI QAEEE  1,012,000&*8.51% 87
ot AHEE= 31,318,000& =0.908% 285
(2e=d &el) 210,387
1.8 190,285
.20 (2s8) 1,675,820 x6H x12& 120,660
L. &0 3 1,675,820 & x6H x240% 24,132
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SN BR=XD
M. HM2AAH (2EsA)
gel: o2yl eEH)
5 - 4
SAH-EB .S (3H) - HEAY - BE2 e 2
CH. 2 & &0yl 1,675,820& *6H *120% 12,066
ct. S A 130,000 x6H x12& 9,360
(I E==E= s ] 70,000 x6H x12& 5,040
b AR 2R 4g
10,570& *150%* 10A| 2t x6 H = 12& 11,416
Ab A XS 84,560 x6H x 15 7,611
2AENEY BEE 20,102
. 188Ea 190,285,000& *1.65% 3,140
L. 202882 190,285,000& *4 .5% 8,563
Ct.=202AH2d8E8 = 190,285,000& *3.23% 6,147
et AtTHEE 2 190,285, 000& *0.908% 1,728
O SO EDIQABEHE  6,147,000& *8.51% 524
ClA2AH| (S AR 22 & 34,629 24,818 9,811
Al 17,315
- 17,314
101 2124 d| 34,629 24,818 9,811
Al 17,315
- 17,314
03 I HLs22 N 34,629 24,818 9,811
(SAsK 22d) 34,629
1.8 31,318
F.2H(1s8) 1,667,3203 x 15 = 12& 20,008
Al 10,004
- 10,004
Lh. &= 1,667,320 x 1 *240% 4,002
Al 2,001
- 2,001
Ct.E&EFotYl 1,667,320 x 12 *120% 2,001
Al 1,001
- 1,000
. HHZAY| 130,000& *1H x12& 1,560
Al 780
- 780
0. S8l 70,000& x1H +x12& 840
Al 420
- 420
B Al 2Hel 2 &
10,5303 *150%* 10Al 2t*1H x12& 1,896
Al 948
- 948
A A XS 84,2403 x1H x 12 1,011
Al 505
- 506
2ANBUHREY BEEs 3,311,000 3,311
Al 1,656
- 1,655
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SN BR=XD

HE: HW2ARY (A=)

e Jl=3l (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
23l 100,873 88,797 12,076

Jl=23dHl 100,873 88,797 12,076
201 B2 S 28,453 25,917 2,536
01 At 22l bl 26,482 24,034 2,448

(et dHl) 10,930
1.2A2E =84 200,000& »27 X «80% 4,320
2. 8+=J|IsX 2 30,0003 »1CH*12& 360
3.ZctZBEHEN 450, 0003 #4448 x23] 3,600
4. QBT EIHEH/EE/RES
250,000 »3CH »33] 2,250
5 BMAEY 200,000& = 1CH 22 400
(=S&hl) 15,552
.38 G2F0 JI2s4Hl
8,000& 27 64 128 15,552
02 5524t 1,971 1,883 88
(B223 & HA) 1,971
1.2882 1,851
.8 # 2,180& *600& 1,308
Lh.Solgtses 1,800& *200S 360
Ch.ggteH 3803 x40S 122 183
2.788s Mg 10,000& =122 120
202 O 4l 66,000 57,900 8,100
01 =L 55,200 55,200 0
1.38sX10 dR2FI 20
20,000& 102 23«12 55,200
02 EA0dtl 10,800 2,700 8,100
112+ & =sX2el 225,000 x4 »12& 10,800
203 YR =&Y 4,320 3,780 540
04 BH2HAREAY| 4,320 3,780 540
1L.2A2gER=2| 400,000& »12& »90% 4,320
204 22| 1,200 1,200 0
01 MM SR+ HH| 1,200 1,200 0
[RESESE= M= B apel R Yul 100,000 »1& «12& 1,200
405 THatF S 900 0 900
01 ML ESFHSH 900 0 900
TLARSA 2 300,000& *3H 900
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Hsds
Mo R0HS IS
Sl MEBHSHY 23 UL CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 202,776 187,656 15,120
ety XS Al
2,414,000 x7H x12& 202,776
J| 101,388
Al 50,694
T 50,694
(GESRAE - E= NN [ PN 202,776 187,656 15,120
J| 101,388
Al 50,694
- 50,694
307 gl2tol & 202,776 187,656 15,120
J| 101,388
Al 50,694
- 50,694
02 IZHE M AHEE 202,776 187,656 15,120
TOH2MMENSXN A 2]
2,414,000 x7H x12& 202,776
J| 101,388
Al 50,694
T 50,694
MEHSNEN 852X 16,800 16,800 0
Al 8,400
- 8,400
307 gl2tol & 16,800 16,800 0
Al 8,400
- 8,400
02 IZHEHAHE L 16,800 16,800 0
T HSHSAES wEH 100,000 «14H <123 16,800
Al 8,400
- 8,400
MEHSANEN HHL 25,100 19,200 5,900
Al 3,550
T 21,550
307 glz2+ol & 25,100 19,200 5,900
Al 3,550
T 21,550
03 QIAHMNHE2IHIEE 25,100 19,200 5,900
THEXNSNEA ML 25,100
.2EE 7,100,000& 7,100
Al 3,550
T 3,550
L. Bz A 18,000, 000& 18,000
SRMss 29X 39,000 39,000 0
Al 12,000
- 27,000
307 21201 A 39,000 39,000 0
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H=&ED
PR
MEHEW B3 &
L3
SN HE -G (3A) - NBAY - B2 ﬁlf&
Al 12,000
- 27,000
03 212t =) 39,000 ,000
1.272M= & 39,000
Jb AR Hl 24,000,000 24,000
Al 12,000
- 12,000
L. 2tel 15,000,000 15,000
sz 8,000 ,000
Al 4,000
5 4,000
307 QI2t0| ™ 8,000 ,000
Al 4,000
5 4,000
02 QI2tAAMAIE E =X 8,000 ,000
1.AQHESMENSEIZ S 2,500,000& 2,500
Al 1,250
- 1,250
2.RzME | 5.500
b E=H=0 2,500,000& 2,500
Al 1,250
- 1,250
LI MEH 2T 3,000,000& 3,000
Al 1,500
5 1,500
Al HEAN A ZUH3 s8N 5,000 ,000
307 2iz2to| A 5,000 ,000
02 212+ &AL 5,000 ,000
1.0 Al MEHSHS s&8XH
5,000,000& 5,000
CH2 Al 2EE A SUg s8XNE 3,000 ,000
307 2iz2to| A 3,000 ,000
02 QIZFA AAIE E X 3,000 ,000
1.0 Al MEH=sUE S8XNE
3,000,000& 3,000
= % HFRANEI MEM=UHI XA 3,000 ,000
307 2Iz2t0| & 3,000 ,000
02 Q12 AP AL 3,000 ,000
1.8=2 & ) MEH=EUE sdXH
3,000,000& 3,000
HAIQ MEHMEUESE =28XE 15,000 ,000
307 212t0| ™ 15,000 ,000
02 212t AFAL 15,000 ,000
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R s R SE=an);
M poNE AE
Sl MEHSSH 23 X (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
TLHRAY MU =282
15,000, 000& 15,000
=320 dEH=seld HaXl&d 10,000 12,000 A 2,000
307 gl2tol & 10,000 12,000 A 2,000
02 IZHE M AHE L 10,000 12,000 A2,000
1.53¢0 MEH=secld sl XI& 10,000,000 10,000
MEHSHY =4 £ X 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
02 It M AMHEE 5,000 5,000 0
1.2lS07Ue s8N 5,000,000& 5,000
Fojel AZ=x g3 T2 5,000 0 5,000
307 21201 A 5,000 0 5,000
02 HAHFHAANGEEE 5,000 0 5,000
1.20e AX=x & Z2H 5,000,000 5,000
AL - 2 NESHEUS 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 DIZFHALALSE E X 20,000 20,000 0
T.OHZRA - NS LS 20,000,000& 20,000
STRAE OtetE 35,000 35,000 0
307 gl2tol & 35,000 35,000 0
04 DIZHHALALSE E X 35,000 35,000 0
1.27AtE Ot2tEWH S 35,000, 000& 35,000
TEE MENSUHE 56,000 56,000 0
307 glz2tol & 56,000 56,000 0
04 QIZFHALAIH E = 56,000 56,000 0
LREEH dEHsH 56,000,000& 56,000
FHE 5 - HAYE MEMSUHI 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 QIZFHALAIH B = 20,000 20,000 0
1.RETH 7 - FadE MENSUHS
20,000,000& 20,000
M3 &I MU 6,000 6,000 0
307 glz2+ol & 6,000 6,000 0
04 QIZFHALAIH E = 6,000 6,000 0
THS3 &I HeExsisl 6,000,000 6,000
S22 HdEMSUHE 5,600 5,600 0
307 21201 A 5,600 5,600 0
04 QIZFHALAIH B = 5,600 5,600 0
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R s R SE=an);
Hu: 0Rs IE
Sl MEBHSHN 23 X (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
1833 &) Hexsisl 5,600,000& 5,600
HLIACS 18,000 18,000 0
307 glz2+ol & 18,000 18,000 0
04 QIZFHALAIH B = 18,000 18,000 0
T.HILIATHE 18,000, 000& 18,000
STEHF 2 A 2,000 5,000 A 3,000
307 21201 A 2,000 5,000 A 3,000
04 QIZFHALAIR B = 2,000 5,000 A 3,000
1L.EZHSsAS & A 2,000,000& 2,000
HEArAEZ=2g 23X 182,000 82,000 100,000
307 2201 A 182,000 82,000 100,000
05 BIZHRI & 3 182,000 82,000 100,000
T HEAEZ=2Y 22 XA 182,000, 000& 182,000
MEHSAE X & 2l 1,541,274 4,104,903 A 2,563,629
s 450,000
Al 96,000
T 995,274
SUXSAIE2el 40,753 40,274 479
101 @144 Hl 6,079 0 6,079
04 JIZtHZ2XREES 6,079 0 6,079
(SUM=sEAE2 02Y) 6,079
1.8 0 5,498
toz=s 68,7202 0.5 x1H 160 5,498
2ANENRE BEEE 581
db.nE2E= 5,498,000& x1.65% 91
(s R =g = = 5,498,000& *4.5% 248
Ch.3A2ZEE =2 5,498,000& x3.23% 178
. eI RABEE 178,000& »7.38% 14
O AHEE = 5,498,000& *0.908% 50
201 €24l 34,674 34,434 240
01 At 2t 2l 3,054 3,054 0
(Zer==gHl) 2,190
1. 83280tH72< 300& =1,5000H 450
2.33HEANE BAE2EFY
7,000&+x7&+108 490
3.ZSHSAE & A2F7Y
3,000& x5&+50& 750
4 SSHSAE Ol & HEAHE S+
50,000& *5J4 2 +23] 500
(=4l) 864
T HSAMELXNESHE 80008 3«34 128 864
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FAM: HEdsh
Hu: 0Rs IE
Sl MEISAL 8% 2 el CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
02 3322l 31,620 31,380 240
(BS22LHA) 31,620
LSUMSAE HII3(22MA)
70,000 *220 2 =12 18,480
2.SUMSAIE &ot=ER=
70,0003 60 2 x128 5,040
3.2 USHIY A4+E23
500,000& x12& 6,000
4. SUHSAE Bas=Ass8
50,000& 1100 2 23] 1,100
5 MSAEIEZ EoithHa3H MHIEE
100,000& 10 1,000
MEHSAE 84X & E= 480,000 480,000 0
401 Al Bl 2B 430,000 430,000 0
01 A& HI 430,000 430,000 0
1.33MSsSANE=E =4 ¥ |A2a
330,000, 000& 330,000
2.0 Ay 23017 4l 100,000, 000& 100,000
405 THabH S| 50,000 50,000 0
01 AL = ZFH SHI 50,000 50,000 0
1.33MSANE E57L 50,000,000& 50,000
HETNSAE 222 271,321 255,029 16,292
101 @14 Hl 93,001 89,689 3,312
04 JIZHHZ22XNHEE S 93,001 89,689 3,312
.20 84,115
Hole=s 68,7203 x6F 160 65,972
b FZ54+2 (524228
68,7203 x6H «36 14,844
. oxt=¢ 68,7202 x6H 8 3,299
2ANENREE BEE 8,886
. NEBE= 84,115,000& *1.65% 1,388
U.ZeHz=zE8a 84,115,000& *4.5% 3,786
O.IoALZEERZ 84,115,000& %3.23% 2,717
ct.Lol@leedEEas 2,714,000 x8.51% 231
ot &4THEE = 84,115,000& *0.908% 764
201 LB-2d| 175,320 165,340 9,980
01 At 22l 106,920 112,540 AN5,620
(dBr=EHl) 106,920
1. HHUAE AT 34,680
Jb.get2dd 100,000& = 12& 1,200
L. E==J|d Xtz 40,000& 123 480
Ct.2X=¢ 110,000& 300 33,000
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D RUHS IE
MEHSAE X & 22 ool E )
SN HH-S(BN) - MBAY - B il HlnE2
2.EHEHEILAE 34,680
b B2l 100,000& =128 1,200
L. 8J|d s 40,0003 x12& 480
O.2X=¢ 110,000& 300 33,000
3.RYHUAZE 34,680
. g2 3l 100,000& =122 1,200
L. 8J1d Xtz 40,000& «12& 480
Ct.2X=¢ 110,000%300& 33,000
4 2E22E 1,680
Jb. 2 Er2 Il 100,000& 128 1,200
(I RPN =1 40,0003+ 123 480
5.70=2s% 1,200
. B2 3l 100,000& =122 1,200
02 3323l 68,400 52,800 15,600
(8223 % HA) 68,400
1LESHUAY, HAZAE 19,200
F.EI =2 S 2323
1,600,000& 122 19,200
2.EHEHEHILIAE 12,000
I, = 5 B33
1,000,000& »12& 12,000
3. HUAE 16,800
&8I, =5 & 3323
1,400,000& 128 16,800
41,222 4,800
I, =5 & 2323 400,000& 123 4,800
5.782sH 15,600
&I, =5 & 3323
1,300,000& »12& 15,600
AP =AY 3,000 0 3,000
03 Al =& A2 =& 3,000 0 3,000
USSR FEH 3,000,000& 3,000
AT FERE UMIASZF AIE KR 13,200 26,600 A 13,400
2 B2 | 13,200 13,600 A 400
23224 13,200 13,600 A 400
1.ESHLIAZE AlE7XH 1,800
JbUEDH 100,000 6% x23| 1,200
Lt.2UE(Z=EE UM S) 600,000& 600
2.EHMHEHLIAZE A&7 1,600
JHUEDH 100,000 5% x23| 1,000
L. 2UEH(ZE , RARLS) 600,000 600
3.PYHLAE AIER AL 1,800
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R s R SE=an);
Hu: 0Rs IE
& MEHSAE X ¥ 22 (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
JbUEDH 100,000 6% x23| 1,200
L. 2UH(Z=Y, AR Y S) 600,000& 600
4. HLZAE AERIH| 1,000
b OS2 WA 100,000 2% x53] 1,000
522 ¥ FURSE AIE R 2,000
Jb. =Y WA 100,000 4% x53] 2,000
6. 3¢ma=2"d 5,000
b, @AXLC BAlH| 5,000,000& 5,000
StN2SE MEMSAE NIAY 610,000 410,000 200,000
s 450,000
Al 80,000
- 80,000
308 XtXIELHSOIA 610,000 410,000 200,000
s 450,000
Al 80,000
- 80,000
08 WFII20HstE = 610,000 410,000 200,000
1.8 u2sd HEXHSAE XNEAY 0
b EN2sE 1 200,000,000 1 £ 200,000
s 100,000
Al 50,000
=! 50,000
Lh.stu2sa 2 410,000,000 =104 2 410,000
s 350,000
Al 30,000
- 30,000
FOEAOMA XIH3 oA 16,000 0 16,000
Al 16,000
401 Al HI K 201 I 16,000 0 16,000
Al 16,000
01 A& HI 16,000 0 16,000
1.85828 3 MEXs 2812 &5 (Al X
A39) 9,000,000 9,000
Al 9,000
2.8UHs HEHEW 2SI+ EX(Al X=3
o) 7,000,000 7,000
Al 7,000
Sad ERE ZLE3AM 50,000 0 50,000
401 AIEHI L 201 50,000 0 50,000
01 A& Bl 50,000 0 50,000
.83 E32F Z4E3AM 50,000, 000& 50,000
SASE HSAE Zl 60,000 0 60,000
Al HI 2 = T ] 60,000 0 60,000
01 A& HI 60,000 0 60,000
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2A HSTED
H: oM WE
CHol: MBI IAIE 83 2L 22 (9 &)
SA-ES O (BH) - ALY - HES Ol & 04 SSa HDS2
| | 1.8X22 MSAE FH 60,000,000 60,000
ME 2 591,921 571,370 20,551
syeE2y 591,921 571,370 20,551
201 LBt2 A 6,900 4,600 2,300
01 AL 22/ H] 3,300 1,000 2,300
1228 54 24| 1,000,0002! 1,000
2,228 =23ns 29 2,300
ob 2 At 50,0002 x2 43| 27| 800
L. H 2l 12,0002 * 158 43| 27| 1,440
Ch. 840 30,0002 *2H 60
02 S22l 3,600 3,600 0
l.2ge 54 el 300,000 « 128 3,600
301 YBtE M2 585,021 566,770 18,251
Noisce - 2525243 585,021 566,770 18,251
1.20f 279,866
JFXNEX(621952) 3,661,20090«1% x122 43,935
L. &4 (721652)  3,127,3008 «6% 122 225,166
Ch. X I A ] 269,101,0002! *4% 10,765
2IESY 2,160
OF. B 2 Xt 40,0009 «3% * 122 1,440
Lt. DI E 20,0009 «3% 122 720
3.¥24+¢ 269,101,0002 %1/12 22,426
4. HEEIH 269,101,000 *1.2/12 26,911
5.8 200,0002 *7% « 12" 16,800
6.X S X4 250,0002 * 12«12 3,000
7.24Hl 220,0002 *7 « 12" 18,480
8.WAIERi 42,000
Jb. A2 30,0002 7+ 152 x 122 37,800
L. 8 A 50,0009 «7% 122 4,200
9.0HEI M X E &t 28,728
Ob. LBt 22l
70,0002 *7 2 #63] x32 *90% 7,938
LhEIMAE 2 S0HE dgd
70,0002 *72 13| x20 2 *90% 8,820
Ch. =58t 50,0002 x72 x382 x90% 11,970
10.048 &0t & 84,0002 *6% 83| *90% 3,629
11.CH& =t A 45,270
JF2UHUE(SIIHE A28 I
40,0002 *7% x83| x6 2 *90% 12,096
L. 2R3 2,500, 0002 72 13| «90% 15,750
Ch.nEH 80,0002 *83| *4CH *90% 2,304
2h. =8t 50,0002 x7 2 x48 2 x90% 15,120
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M HEXED
dM: AQNE M5
chel: Aolged CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
R.IIULABLZ 18,000, 000& 18,000
BB AZ(AH) 6,000
ot 19 300,000& »12& 3,600
Lt. 2%l 200,000& =122 2,400
14041 ZHl 7 10,000, 000& *23| 20,000
5. 0EEBEE 411,643,000& x1.5% 6,175
16. =202 411,643,000& *4.5% 18,524
17.32HLEES 411,643,000 *3.23% 13,297
8. EIRAEE= 13,297,000& *8.51% 1,132
PATHEEZ 411,643,000 *0.88% 3,623
20. 8t =g EE AU Y| 3,000,000& =14 3,000
21.3H(HAE)UHE ¢ 6,000
b2t E 300,000& x1H «12& 3,600
Lt.&Hl =2 200,000& x 18 128 2,400
HH2IAZH(MSHED) 115,686 0 115,686
ol 2 gl 71,674 0 71,674
ol 2AH| 71,674 0 71,674
101 @1 A Hl 71,674 0 71,674
03 RIAHAZZ2 T+ 71,674 0 71,674
1.2 64,824
.20 (288) 1,675,820 x2H x 123 40,220
Lt.&0 3 1,675,820 & x2H x240% 8,044
CH.EE S0 1,675,820 & 23 x120% 4,022
ct. B A A 130,000& x2H x12& 3,120
Ot WsSE x| 70,0003 x2H 128 1,680
Hh A28+
10,5703 x150%* 15A1 2t +x2H x12& 5,708
AAX =G 84,5603 x2H 12 2,030
2MNERNEE S 6,850
Jb.ZRALBEERE 64,824,000& *3.23% 2,094
Lh.LolaleasEd s 2,094,000& x8.51% 179
O.Ze=zE8a= 64,824 ,000& *4.5% 2,918
. NEEE= 64,824,000& *1.65% 1,070
ot &M4HEEZ 64,824,000& *0.908% 589
Jl23&dl 44,012 0 44,012
JlE2zl 44,012 0 44,012
201 2yt 2 Y| 13,112 0 13,112
01 At 22l 11,576 0 11,576
(der2=2Hl) 5,240
1. 24A2E =2l 200,000 * 11 «80% 1,760
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M MsSAEL
H: HMSAHH (HNEEED)
@2 Jl2&tl (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
2.2d2tEH/EH 360,000& x4 x23] 2,880
3.EWEH/EY 200,000& *33| 600
(Z2&hl) 6,336
102 Rz A |
8,000 x11H 64! x12& 6,336
02 53294l 1,536 0 1,536
(B322 ¢ HA) 1,536
1.2E3(getH) 380 *x50S x 128 228
2.2ER=2(SD) 2,180&+x50&S x12& 1,308
202 O B 27,000 0 27,000
01 2L Y] 21,600 0 21,600
1. 92801204l 20,000% 10 x9H »12& 21,600
02 AN Y| 5,400 0 5,400
1. HSAEEBIIRF=EE AN
225,000& x2H = 12& 5,400
203 ¥R =&H| 2,700 0 2,700
04 EANSHLRE=XH| 2,700 0 2,700
1. 2N2ELERFAH| 250,000& x12&*0.9 2,700
204 D82 Y| 1,200 0 1,200
01 M HR-HAY| 1,200 0 1,200
1. AMZBHR2FE| 100,000& = 12& 1,200




